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THoe e, qve @ HGIR -ou(Fs) (et GHfve)

ax? +bxy+cy +dx+cy+f=0
VA
/ \ Parabola Hyparabola

b+ 0
a=c a#+ ¢
Circle Ellipse

TuRRY :3)16x% + 8xy + y% — 74x — 78y + 212 = O(P)
(®) 8x% + 4xy + 5y* — 24x — 24y = 0(E)

©x*+4xy+y?*—2x+2y—6=0(H) (8) 3x* +3y%> —6x+9y — 14 = 0(C)
Parabola
**y2 = +4qx or (y — k)? =d4a(x — h) **x? = t4ay or (x — h)? = t4a(y — k)

Parabola

Latus rectum(4a) vertex(h,k) Focus(a)
Tarzger: () y2 —8x—4y+4=0 LR=|-8|=8
da=-8.a=-—2
X T3 FIF G Y OF ACATF o@aqaaqe I AR, 2y —4=0=y =2
y &F AT T w0 I A2 ,x = 0
A vertex(0,2)
Tty focus(2,2)[ (h-a,k)]
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Trrgge: () x> —4x—8y—4=0 LR=|-8|=8
Ja=-8.a=-2
Y TF FIF G X GF ACCF S99 @ 8, 2x —4 =0 = x = 2
X O3 T T A0 P AR Ly = —1
At vertex(2, —1)
Tty focus(2,1)[ (h,k-a)]

Trrge: (9) x% +8y—32=0
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